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H i : dB(A)
BlEE L ﬁ— BRI R Hp Leg L max L, L« L« ? +] % 58 )
A2t FpRix¢ o [ 114.01.17~18| 541 | 732 | 554 | 529 | 511 ,
Y EE A E
BB 2R — — 75 70 65
B ARR ) 114.01.17~18 | 53.2 | 76.2 | 54.8 | 49.7 | 486
b rH B 114.01.17~18 | 54.0 | 857 | 557 | 525 | 48.1
E ) ; ﬁ’L'J ¥
BikRe 114.01.17~18 | 51.6 | 733 | 53.2 | 50.1 | 45.9 F
BB 2R — — 60 55 50
%3 RRHEFTRESRE L
¥ = : dB(A)
/F'J b f" %6— s; /F'J p Hp Lveq Lvmax Lvio » Lvio = 'F #'J T Z:‘F‘_ V"‘J
A3t F IR | 114.01.17~18 425 64.1 43.9 39.3
%ﬁ = fﬁ?\: B
PARERAZE ST E — — 70 65
B ARE]) 114.01.17~18 39.4 54.5 40.7 36.5
b AR 114.01.17~18 33.8 56.0 35.1 30.9 )
¥ - R
BRR 114.01.17~18 | 38.1 78.5 39.5 34.7
P AR RAZE 5L B — — 65 60
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R=1pt 114.01.17~18 43.8 43.0 37.8
B R 114.01.17~18 46.6 43.6 38.7
305 Lplsh YR TR REL
# = : dB(A)
R A ERIP Leq L max B TR
114.01.06 64.4 77.1
IFE R 114.02.06 50.1 59.2 oA AR
114.03.14 48.4 60.5 FEIARG
BB ERF 80 100
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BE I EBEEIE A FEERY-DRETRFFUAES 1 F T RHES &
%6 LRIHABRTERSSREL
R b o
MDL | A% | A¥ | AR | B+ | B* BA | C% | Ccv C A iz
7P (E = s
pH — 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 82 |75-85
KB (C) — 21.9 21.6 21.2 22.6 22.5 22.3 22 21.8 21.5 —
mg R
w3 E 0.1 6.9 6.8 6.6 6.9 6.8 6.7 6.8 6.7 6.7 >5.0
(mg/L)
/Y:;f. - g
RSN 1.0 9.5 10.6 9.0 12.4 8.2 10.0 7.0 11.2 8.6 —
(mg/L)
& (psu) — 34.0 34.0 34.1 34.0 34.0 33.9 34.0 34.0 34.0 —
PR (M) — 2.3 — — 2.9 - - 2.1 — - —
dzy g
- - 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <3.0
(mg/L)
[ =T 4
14 2.7 2.2 2.3 2.4 2.3 2.3 2.9 2.6 25 —
(mg/L)
Bagk(mg/L) | 0.002 0.065 | 0.049 | 0.061 | 0.033 | 0.024 | 0.032 | 0.059 | 0.032 | 0.036 | <0.08
&% (mg/L) | 0.3 0.36 0.41 0.37 0.34 0.30 0.40 0.39 0.36 0.31 —
% % (mg/L) 0.01 ND ND ND ND ND ND 0.0483 ND 0.0005 | <0.5
YU g
AL 0.11 0.33 0.36 0.33 0.31 0.27 0.35 0.34 0.31 0.26 —
(mg/L)
A
0.07 0.11 0.18 0.15 0.11 0.12 0.14 0.17 0.17 0.16 —
(mg/L)
LA
(mg/L) 0.0000025| 0.020 0.020 0.020 0.018 0.017 0.018 0.020 0.020 0.020 —
7 #5(mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <2.0
s ps(mg/L) | 0.0021 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. |<0.005
<
(CFU/100mL) 10 50 10 35 65 35 65 55 40 55 <30,000
F (mg/L) 0.0003 |0.000850{0.000890(0.000880{0.000760(0.000760{0.000790(0.000980|0.000870(0.000960| 0.05
4% (mg/L) |0.0000024|0.000006|0.000008|0.000008|0.000006|0.000006|0.000006{0.000007|0.000006|0.000006| 0.005
£ (mg/L) 0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
& (mg/L) 0.00015 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.001
4 (mg/L) |0.0000024|0.000180{0.000090(0.000140|0.000140|0.000100|0.000100{0.000080{0.000110|0.000070{ 0.03
4% (mg/L) |0.0000024(0.000170|0.000140{0.000160{0.000150{0.000140{0.000160|0.000140{0.000140|0.000120| 0.05
#-(mg/L) |0.0000025|0.000160{0.000020(0.0000600.000030|0.000020|0.000020{0.000020{0.000020|0.000020| 0.01
#(mg/L) |0.0000039|0.001430(|0.000680(0.001110{0.001050{0.000730{0.001170|0.000460{0.000710|0.000370| 0.03
7 % % (mg/L)| 0.00005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
£ 5§ $(mg/L)| 0.00005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
= f4~(mg/L)| 0.00004 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
= #>(mg/L)| 0.00005 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
& #r4>(mg/L)| 0.00025 |<0.00025|<0.00025{<0.00025|<0.00025|<0.00025|<0.00025|<0.00025(<0.00025|<0.00025| 0.1
- &¥(mg/L)| 0.00004 N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1

AL pH i 14E20 4
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